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QUESTION 1

Which statements about filters are true? (Choose 2.)

A. You cannot export a filter from a driver.

B. You can configure a filter policy for a driver set.

C. You can add a class or attribute to a filter policy.

D. There are separate filter policies for the Publisher and the Subscriber channels.
E. The same filter policy is used for both the Publisher and the Subscriber channels.

Correct Answer: CE

QUESTION 2

Which rules need to be followed when adding flow paths to a workflow? (Choose 3.)
A. There can be multiple flow paths out of the Start activity.

B. There can be only one flow path out of the Merge activity.

C. There can be only one flow path out of the Branch activity.

D. There can be only one flow path out of the Entitlement activity.

E. There can be between one and five flow paths out of the Approval activity.

Correct Answer: BDE

QUESTION 3

What is a purpose of the DAL (Directory Abstraction Layer)?

A. To process work flows

B. To grant/revoke entitlements

C. To store entities attribute data for use in work flows

D. To provide a customized view of objects and their attributes that are stored in the Identity Vault

Correct Answer: D

QUESTION 4

What does the Calendar page of the Reporting Module show? (Choose 2.)
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A. Report size

B. Report settings
C. Deleted reports
D. Finished reports
E. Reports that failed

Correct Answer: DE

QUESTION 5

If there is a name conflict between different variable sources in an XPATH statement, what is the order of precedence?
A. Local (policy scope), Global, Local (driver scope)

B. Global, Local (driver scope), Local (policy scope)

C. Local (driver scope), Local (policy scope), Global

D. Global, Local (policy scope), Local (driver scope)

E. Local (policy scope), Local (driver scope), and global

Correct Answer: E
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